— SY-525

SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH 2023

Part — II1 Time : 2 Hours
CHEMISTRY Cool-off time : 15 Minutes

Maximum : 60 scores

~

General Instructions to Candidates :
e There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.
e Read the instructions carefully.
e (alculations, figures and graphs should be shown in the answer sheet itself.
e Malayalam version of the questions is also provided.
e (Give equations wherever necessary.

e Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 4 questions from 1 to 5. Each carries 1 score. 4x1=4)

1. The unit of rate constant of a zero order chemical reaction is

2. Among the following transition elements which one has a completely filled d orbital ?
(@) Ag (b) Ti

() Mo (d) Ni
3. Give an example for a didentate ligand.

4. CH,-CH,-Br+Nal 2¢O, oy _ CH, — [+ NaBr

The name of this reaction is

5. Identify the product ‘X’ in the chemical reaction given below :

0
] H,

C-Cl— 2 X
©/ Pd/BaSO,

Answer any 8 questions from 6 to 15. Each carries 2 scores. 8 x2=16)

6.  State Henry’s law. Write any one application of it.

7. What are Ideal Solutions ? Give one example.
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1 3)®a8 5 190 caEiBSElad ago®Blene 4 aIPOTIM DOMOOAY;)d:.
1 capod afloo. 4x1=4)

1. anmipe 808AWA 00V (rIAIAGMETIO Tlode TuElEIBATNO aBddo

@Ry6m.

2. ©09 62S) OGN MVo@ATMDEIDHEBEIGE  aBTIMIM  al)3amaow)o

mlogom d 803milgas 983® ?
(a) Ag (b)y Ti
(c) Mo (d Ni

3. alsaml elkwomaslm 80)30a006mMoe M@ID)d.

4. CH,—-CH,—Br+Nal 2¢O, oy _ CH, — [+ NaBr

gDV POV IAIRDNAOIONAG Cald® @)y61M.

5. ano1es O@BHDCE9M  E0TVEIAIAGMEDIE 2|20 ‘X' 6  Gald
af)PY> :

0
| H

C-Cl—=2 X
@’ Pd/BaSO,

6 2)®@3 15 A1o0  ¢a135SEG8 oBomelene 8 afINOVIM DOMOOHAY ).

2 capod afloo. B8 x2=16)

6.  ©a0a30l VR0 (IN0A[E9)D. BRGIOG cRO®ESILN0 B0} (LICRIWO af)Y)DD.

7. @BRREIRMIGHU3 af)MIG3 af)a®) ? B0} DBIAODEMo MTIB).
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10.

11.

12.

13.

14.

15.

A° for NaCl, HC/ and CH,COONa are 126.4, 4259 and 91.0 S cm? mol™!

respectively. Calculate A°  for CH;COOH.

(i)  What are Pseudo first order reactions ? a1
(1)  Write one example for pseudo first order reaction. a1
(i)  Transition elements show variable oxidation state. Why ? a1

(i1)) Identify the element in the 3d transition metal series that exhibits maximum

number of oxidation states. 1)

Write the [IUPAC names of the following compounds :

(a) [Co(NH,),(H,0)Br]Br,

(b)  K4[ALC,0,),]

Differentiate between Syl and SN2 reactions.

How is phenol manufactured industrially ? Write the chemical equation.

Aniline does not undergo Friedel craft’s reaction. Why ?

What are oligosaccharides ? Give any two examples.
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10.

11.

12.

13.

14.

15.
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NaC/, HC/, CH;COONa ghaies A°, @Loo@aoe 126.4, 425.9 and 91.0 S cm? mol ™!

@ysm. CH;COOH 6@ A°, | af)(@@0o6emMaN &618)a 151886

(1)  ®als B8N0 BOBALA ANV (AIAUBDDMo af)aIMI@3 o)D) ?

(if)  Bals BaM BOBAWA IV (AIAUIBGMAHIM B30) OBIAOMEMo Af)P)>.

(1) TVoE@@EM  MPISHEBUD  AUYDITY  BOlBHOIMOATVOBHUD  H0EMIEHN)AM.

HO06MEONTD ?

(i) 3d cwmMllenss o AVo@AEM  MEIGAEM  oBJONo  H)S)OTI
B BHOMOAUNVOBHUD HMILNIND) ?

@069 ORHIS)TNNGHHNAM TVoIBMETBB)S [TUPAC Modo af)9))s

(a) [Co(NH,),(H,O)Br]Br,

(b) K, [ANC,0,),]

Sy1 (a1a1demmane Sy 2 (a1a13@mMale @aalenss aly® PTVEBRU3 af) 9 3®)d:.

aflemodd  aIPAINIWIBHISINOIMEDIEE  ©@Bajodlafleg)Mmememom 2 DD

(1QIBODMATOF EOAV TVAAID Yo af) 9.

@RM1elm Alawas (@0a0gav G0 et M@H)AMIL]. HO0MEATD ?

SelcnITLIBNHHNOWIBHUB af)MIT af)a® ? aROMBSIEe M DBIANOMEIBUD
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Answer any 8 questions from 16 to 26. Each carries 3 scores. 8x3=249)
16. (i) Define Molar Conductivity. 1

(i1) Graphically represent the variation of molar conductivity with concentration for

strong and weak electrolytes. 2)

17. (i) A first order reaction is found to have a rate constant, k = 6.8 x 10714 s~1. Find

the half life of the reaction. 1)

(1) Write the integrated rate equation for a first order reaction and explain the terms

in it. )

18. Explain the effect of temperature and catalyst on the rate of chemical reaction.

19.  Write the preparation of K,Cr,0, from Chromite ore.

20. (1) What is Spectrochemical series ? 1)

(i1) Draw figure to show the splitting of d orbitals in octahedral crystal field and
label the diagram. ?2)

21. Name the products formed when phenol is treated with the following reagents :

(i) Bromine water a1
(1) Zinc dust a1
(iti) Conc. HNO, 1)

22. Explain the following :
(i) Kolbe’s reaction 1%)
(i) Reimer-Tiemann reaction 1%)
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16.

17.

18.

19.

20.

21.

22.

16 2)®@3 26 2190 ¢21BiEBSEIG3 a@E@BILNe 8 af)INOTIM DOMOHAY; ).

3 capod aflow. B8x3=

(1) 20800 210e13® M1BQ) 2 l6e)d:.

(i) (NIl DRIGESINNRIQIGRBICSW]e  B)BMILI  SDRIGESINORIQIHBIESW]o
CAOBOAB  210LIH®, WOUIDR G@RMVAlY] of)EIOMm A PTVOA|SIAN)

og)(m@”w)om”ls)c@ TVAOIVDNIB3 2 {131 B>Bl 6.

(1) 80} 8aMolo 30BWA OV me@«smm«sm”loc@ Mloss aucleoso, k= 6.8 x 10714
57! @M. @RGIM @RAELOW)AY @eNB) 1S1He)d:.

(i)  8aMI0 30BWA PIAV (AIAIRTMETHIOA MVAIBHLI®ATESS TLAAIIS, OAY)G)

218683 aflvoEl@:G1e9)M.

80} EAVEIAUGGMOTOMW TESSIG3 @aIBWIM)e DTIC(IOHATIIM0  DBH
avlPUWlmo flVoBRIBN)B:.

c(@0606aQg @PIales mlan) K,Cr,0, afldnzlaeamememom ag)an ag) 9)@)d.

(i) OMYBESIODAHN@S GUIETI ag)INIG3 af)am ?
(i)  B8goadlawas (oe;km”gaséi afladl@d d-s0dmilgensa)os Eanla] al(@le:dlaf

24)
)

()

)

2

Oy

@RSWIBOQ|SITND. 2)
@06¥  @IABlENMM  EITVaIBIBMNBB)N0W]  aflEMIUB  (AIAIBTDILN)EMIOUB
211N DL|IMEBIOS Cald af) YD :

(i)  eeEnoalad e @
(i)  aVles 9109 @
(iii) woaw HNO, 1)
21)Q16S O30S)AIGElamaNal allvodladled :

(i) €I (rInIBTTMo (1%)
(i) Aad-Slao (I1AIRTDMo (1%%)
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23.

24.

25.

26.

27.

28.

(i)  Write any two nucleophilic addition reactions of aldehyde. ?2)
(i)  Name the product formed when ethanal is reduced with LiA/H,,. 1)
(i)  Which one is more reactive among aldehydes and ketones ? 1)
(i1)) Describe any two tests to distinguish aldehydes from ketones. ?2)
(i)  What is Carbylamine reaction ? (€3]
(i) Explain why aniline is less basic than ammonia. )
(i)  What are essential and non-essential amino acids ? (€3]
(1)) Explain the amphoteric behaviour of amino acids. 2)
Answer any 4 questions from 27 to 31. Each carries 4 scores. 4 x4=16)
(i)  What are Colligative properties ? (€3]
(1)  Write any two colligative properties. 1)
(ii1)) What is reverse osmosis ? Mention one important practical utility of reverse
0SMOsis. ?2)
Lead storage battery which is commonly used in automobiles is an example for a
secondary cell.
(i)  Write the name of anode and cathode used in this cell. 6}
(i1))  Write the reactions taking place in the anode and cathode of this cell. )
(i11) Explain how this cell can be recharged. 1)
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23.

24.

25.

26.

27.

28.

(i) ER@WUWHNOW)BHBIOS ~RO®BIL)e 0 MyGlcoadleils, @olauad
(IQUIB@DMEIBUB af) L)D).
(i) LiAH, 9aicwouila] agomoelom mleodsHmfloadlanemiond  eidlanam

DL|MOTHONG Cal® af) ).

(i) ER@WUWHOaoW)BHWB, HIEQPRIMBDUB  af)aAIRI@  AB@IMIM &SI

(BoUBleIMBB® ?

(i)  @ER@WINOaoWRHe8  dlegoemddl@d  mlanp  caldddlajoleomss

oo™ OME aldla:memesud allaidles)d.

(i) 0BeeMIGE @GRAIM (IAIBGMMo af)INIB3 af)a®) ?

(i) epmMIeld @RE2IMIVHVWENIB)  GHOAI  GNIAVIB®  GHI6MIENM®

af)0®)OH06MBI6EMAN AflQIGlaN G ?
(1) @palvny cralemd  @RYMIWdHBl G@I@IINICIHU®ALPOD  @RAlICMI
BRAVIWBGS)0 af)ADIOEMAN af) Q)@ ?

(i)  @RalecmO @RIVIWBK:8)HS DEWWA2N AV|EI0Ie AlAIBlHN ).

27 )8 31 190 2103468 agomBIENe 4 ag)INODIM DONODALI®)c>.

4 capod afloes. @x4=

(i) edodlenglar nEMuwdansBud af)aNI@3 af)a® ?
(i)  ago®ElENe 0eNE OBoSleGal !MIMWANEIBUD af)$I®)d.
(iii)  Iileena al@lalPalMo af)aMI@ af)a® ? (IGICLIA AIY@IAIPAIMOTION3

aBQQl)o (1 1UOMeQ]S 80} (I0ECWIUIID DalCWINo alEIABUTIAN)D>.

ORI EAVOEOER MINQAl ALOWIEIM@IW] AIPAOMEBSEIGE DalEWIUTBNAM B}
VML HAVLNM DBIOOEMAVE.

(i) @Y oreled 2a1cWIUTlaflEleeam @REMIWINMBW)o HICLOIWIHWW)o Cald
af) P )M B>.
(i) v ergled MSENMM  @RYHEMOWICLIW)o  HOCLOOWICRIW)o  ©OAV

(IQUBBIHIMEBUB af)9JEND>.

(iii) 6D OAV@3 (F1210322 2 1YIMMEO@EBIOM )M ANlUVOBAOBE).
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)
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)
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)
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0y

(0))
0y
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29. (i)
(i)
30. (i)
(i1)
31, ()
(i1)

Draw the structure of the geometrical isomers of the co-ordination compound

[Co(NH,),CL]*.

On the basis of Valence Bond Theory (VBT) explain the structure and magnetic
property of [Ni(CN),]*.

Identify the major and minor product obtained by the reaction between 2-bromo

butane and alcoholic KOH.

Name and state the rule behind the formation of these products.

Explain Haloform reaction.

How will you prepare benzaldehyde by Gatterman — Koch reaction ?

(ii1)) Write the name of the reaction involved in the following conversion :

SY-525

Zn—Hg
CH, - CO - CH,4 H—CZ) CH, - CH, - CH; + H,0
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29. (i)

(ii)

30. (i)

(i)

31, ()

(i)

(iii)
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[Co(NH;),CL]" o)  2al0Voc@od: MoW)BMOBING  C2RON(SIHNE3
9af)CILIONOIBHBIOS LIS AIOW)D.
apeiday’ emidene @lool  (VBT)  @ryaValczaossi [Ni(CN)4]2* af)am

NVoW)ESMATIAG *LISM®)o HOATE AVIROAIANL AlUOBAILN)D.

2-¢(En10Gn0 NINESM @RY@ENCa00s8ld KOH 200 (a1ml@icudcmmormilod
aBB6a|S)eMI0Wd  LIEIEHIAM  (AIWOM D@Ba|IMAle MOANI(®  D@3a|INAl)0

nggm@(m“oe)@mm;&b.

gDV D@ |ANEBUB  DEMEBOANANGIM @YAVaIBAANM  MRAGTNOMW  Cal®

af)9)03 MA0 (1M NEe)H.

a00GEIIGaNIo GlIBHaHB af)aIOMAN AflQIG]Ee)B:.

»5820M-6H0a]  OlOBaHMIENOS  HENIVBAVOIGIWIONNAOW  ag)sdBEloOM

m@oailee0o :
21)016S @SB S9)aM 20g0 AV)afla{laenan EOTVEIIBEHOETHNOR Cald
) 9YO)).

Zn —Hg
CH, - CO-CH; —— CH; - CH, - CH; + H,0
HCI
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